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Direction: (For Q1 to Q3) Fill in the blanks with suitable determiners:

1. The Asian Games are held once four years.
(1) Each (2) Every (3) Any (4) Some
2. A poor man has money to waste.
(1) Little (2) Alittle (3) The little (4) None of the above
3. The District Magistrate visited flood affected area.
(1) Each (2) Either (3) Every (4) Neither
Direction:(For Q no 4 - 9) Choose the correct form of the verbs:
4, If you hard, you would have succeeded.
(1) Tries (2) Tried (3) Have tried (4) Had tried
5. He will stay here until you .
(1) Return (2) Returns
(3) Is returning (4) Have been returning
6.  IfIhad been you, I to the proposal.
(1) Will not have agreed (2) Would not have agreed
(3) Will not had agreed (4) Would not had agreed
7. Had I been a bird, 1 then and there.
(1) Would have been flying (2) Would have flown
(3) Will have been flying (4) Will have flown
8. Rima wants to go for a walk, but she her work yet
(1) Have not finished (2) Has not Finished
(3) Have not been finishing (4) Has not been finishing
9. We our lessons when the lights went out.
(1) Was doing (2) Were doing (3) had been doing (4) None of the above

Direction:(For Q no10 - 11) Add a suitable tag in the following sentences:

10. We usually have lunch at the park,

(1) Haven’t we?

? (Add a tag question).

(2) Have we? (3) Don’t we? (4) Didn’t we?

11.  There is little we can do about it, ...... ? (Add a tag question)

(1) Is there?

(2) Isn't there? (3) Has there? (4) Don't there?

Direction:(For Q no 12 - 16) Fill in the blanks with suitable prepositions:

12.  The little girl is pleased

her new dress.

(1) At (2) To 3) In (4) With
13.  Soldiers their battle dress look very smart.
(1) In (2) At (3) On (4) Of
14.  Father restrained me fighting with friends.
(1) Of (2) By (3) From (4) For
15. Douglas jumped the swimming pool.
(1) In (2) Into (3) Onto (4) On
16. The pen is often compared a sword.
(1) To (2) With (3) At (4) None of these

Direction:(For Q no 17 - 20) Change the voice of the following:

17. He told me the story.

(1) I am told the story by him.
(3) I was told the story by him.

(2) I have been told the story by him.
(4) I had been told the story by him.

18. The town was destroyed by an earthquake.

(1) An earthquake destroy the town.
(3) An earthquake is destroying the town.
19.  The mob has beaten up the thief.

(1) The thief has been beaten up by the mob.
(3) The thief had been beaten up by the mob.

(2) An earthquake destroyed the town.
(4) An earthquake was destroying the town.

(2) The thief have been beaten up by the mob.
(4) The thief was beaten up by the mob.

20. Rita is a quarrelsome child. (Choose the antonym of “quarrelsome™)

(1) Spirited

(2) Civilized

(3) Friendly (4) Calm
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: GENERAL SCIENCE / 99 f{@sia / sy« e

21. Change in the state of rest or of uniform motion is brought about by —

Fafoter st i A oifeq wAfiae faea wrat weaioe 292

oo

@A fwea F2a 3 777 sifer waga 7faeq 27 -
(1) Acceleration / g/ §a (2) Uniform / 7831
(3) Energy / %f& (4) None of these / @Bl€ 7127 / @& be

22. A wooden piece 5N in weight and Scm x 3cm x 2cm in size lies on Scm x 2cm face. The pressure exerted by it
inN percm2 is:
5N G4 B! F164 51, TASMFA Scm x 3emx 2cm ©iF Scmx 2em 2@ 2 T8 | F164 FFAHI At T4t
Biol N/ cm’ © fofa w4t |
a5 5 fTEon Tt F1TIa TFEE WFa 5 @ x 3 @ x 2 Eif @3z «fb 5 @ x 2 S ore e itz )| s
2fS 39 @ B 2=

(1) 150 (2) 50 (3)0.5 4) 15

23. The three vessels shown in figure have same base area. Equal volumes of a liquid are poured in the three vessels.

The pressure at the base will be

Frfarfars fof! viwa sjpeera crawe w7 | Rt 2itare 7 ofamioq wa a3 (20| (90T 7¥eem bl i 2°3 2
Teva foald #iitaa sjoetem™ crawet qa | T AT o9 A AR | PO T2 Bi7A -

(AR AN

(1) Maximum in vessel A / 2I[@ A © F{{%F Biot / 2Ifd A (© A4S
(2) Maximum in vessel B / #if@ B © 5 &i{4& 519 /#if@ B (© 7({%®
(3) Maximum in vessel C / 9@ C © ({4 Biot /if@ C (© F{4s
(4) Equal in all the vessels / FFCE! 2A[@® F B2l / FFe1 20 FNH
24. Statement 1: Loudness is the characteristic of a musical sound by which a loud sound can be distinguished from a
faint sound.

T3l 1: *rara Sigst *=11 @b1 (A%, T AE G5 S *1F «bl el *FHF 27l 4T FAQ A
e 1: Siael =51 @@ GF T (A8 T AT SF 1 Y =1 (AT SAm T4 T |
Statement 2: Echo is always produced when sound is incident on the hard and polished surface
3f 2: @Bt == o o veva! 7P AfTs 2'te TWiT eifewi Termza|
qf® 2: aifeuls wdw toft =0 7em == o gz T P weifes 27|
(1) Both Statement 1 and 2 are true and 2 is the correct explanation of 1.
1 91 2 T ey W 2 02rr | 3 AT i
1 @32 2 TETR Y] @R 2 T | @A AS i |
(2) Both 1 and 2 are true but 2 is not the correct explanation of 1.
1 @< 2 Torn e g | 9 2 it 2 w2 |
1 @31 2 Tew 7 g 2, | @3 A= it 71w
(3) 11is true but 2 is false.
1 777 o5 2 ey |
1 71e; forg 2 frent
(4) Both 1 and 2 are false.
1 1% 2 Tora Pty |
1 @31 2 owg fet
25. A car moving with a speed of 40 km/hr can be stopped by applying brakes after at least 2 m. If the same car is
moving with a speed of 80 km/hr, what is the minimum stopping distance

40 efis/a5t wfora vfer At @i oISt (g et F( 2 & gage 99 219 )| 7 Gtz 8w 80 fsfiie/ w51 wiera
B ATF, (STT @ 2ATI9 FTACE SN Bl vag Sifoars 14 143 ?
40 Tefite/ao1 el veme @3 9N F99TF 2 1 @& ATTes 2ita Aeee #iita | 7 @2 aife 80 fFefe/ast st

BT, SIRCE eronl AN THg F 204 ?
(1) 2m (2) 4m (3) 6m (4) 8m
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26. How could you place an empty bottle on a table so that it produces the greatest amount of pressure on the table?
B! 35, G4 (TGS (FTARCA AT TS 7 (G 2TS T4 b1 Beois Ff1a AT 2
T Frel GF M UIfeT [@TEEF (FAE @5 SR AT TTS @i FH4F 2If7=141 il Cof Fea -

IV

(1) Position 1 /Sag« 1 / SEH 1
(2) Position 2 / SI9EH 2 / S 2
(3) Position 3 / SI9EM 3 / S9ZI 3
(4) All positions produce the same pressure / FHTe SAZACS T Biol TLIAT 2 / 7 SEIT AN 19t (ofd T3

27. Two mirrors are inclined at an angle @. For an object placed in between of them, 11 images are noticed. Find the
angle between the mirrors

T VTR O (FITS SRS | T G4 FYLS I 778 «@51a 11 51 2ifefay et i, (o0 wisiia g2ea e

(IR A ol 2
i ITIee Hold ST 0 (FIT SRIES AR | ©ITwd Ty A @1 983 11 T 2ifefay oifve =1 wofa gfoa swaa @@
Fo?

(1)30° (2)32.8° (3)16.4° (4)15°

28. Three statements regarding the characteristics of an image formed by a plane mirror

AAEH RTARTS a1 (23t 2ifefiga tafre; fofin! were frt =l
e wote sifde efefraa tafe) seifee feafs fgfe fs rem ztatm)
(I) The image is laterally inverted / 2fSfagt5! “MTeIta €renb! / afefawH 2w ©ita f[vidre 27

(IT) The image distance from the mirror is equal to the object distance from the same
WEAA 1t aifefaga vag o 7FRga wag o / wofet (A aifefirea vag aga wold (4 Faegd e
(IIT) The image is larger than the object / 2ifSfT=a wiwa rwge (F viea / oifels 757 Gra 7o
(1) only statement I is correct / (F3e1 | Ef&Tot &% / (F<at Wﬁﬂﬁ 1 (o=
(2) only statement III is correct / (#3941 111 TGB! &% / (=1 MG ﬁﬂ'& 111 #fo%
(3) both statements I and II are correct / @ 1 o< 11 Tern wa/ 7737 I @z 11 Tewz #fds
(4) both statements 11 and III are correct / T& Il W< 111 Teta v/ 73S 11 @3z 11 Teowg #fis

29. A car moving at 160 km/h when crosses the mark - A, driver applies brake and reduces its speed uniformly to
40 km/h at mark - C. The mark are spaced at equal distances along the road as shown below. At which part of
the track would the car have been traveling at instantaneous speed of 100 km/h?

160 fsfiis/ @t (@rara oife 77 4t 9ISt QAT A-Fe o™ T4 ATTS HIelF (@S 2ot Fae 214 (9 FI ©Iq
0 tat CgiTe 40 fFefie/al 20| I @2 FW 23 1A A 23, (STT SO Siesios ©ira 100 el w96t @rara
F© ife Ff< wifez ?

160 FFf/aSt @et vere @ oAifS T A wfoT Faia 751 51 @F 2T F0F 93 97 S T ©ig Fhe

40 fof/a%t 73 719 C (@ ¢ofrgm | i wfer areta smiw vacy it @itz | ol siewlds sita 100 Fhrest @t
(Il eI ?

(Y )

Mz;rk-A |
(1) At mark — B / 5II% B ®/ & B (®
(2) Between mark — A and mark — B / & A S/ B I MT® / MF A @3k B @3 04
(3) Between mark — B and mark —C / i B 9% C 9 &7 / W& B @32 C @3 045
(4) More information required to decide.
g #1'4ta wIfi@ O 2T / I (TR T SRe ST ATE

30. Two pendulums A and B of length 9 m and 16 m, respectively are made to oscillate on the Earth's surface then the
ratio of their frequency is .

A% B (Fe@a (7 @0 9 =i 16 i) @2 (73517 9jfad o oriem Fieata Wia 28ed omied oo 29 -
A &3 B 56 e Teierts 9 i @3 16 T oieia | 9 2R om0 atia (e S 209, St FRATER ORI 204 -
(1)3:4 (2)9:16 (3)16:9 (4)4:3

. - !
Mark-B Mark-C
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Read the passage and answer the question number from 31 to 34

oI AGFIHICH! 215F W 31 9 74 34 (71 &) THACOIE Ted ae
Terferire Seraw® 2ItTt @3 31 (AF 34 2769 Ted wie

31.

32.

33.

34.

35.

Passage: Rohan starts cycling from the centre O of a circular park of radius 1 km. When he reaches at the edge A
of the park, he cycles along the circumference and then returns to the centre along BO as shown in the figure. He
completed the trip in 10 minutes.

AT : (@2 Q4 FEIFE TWI, T TG | B, O @ O 7 714 vigaa verate wiag #a | cfent © A e
Torre 27, (Sfent AfRHra sieraa vaw =% BO 2tdf (F@ta Tefe otz | @2 AAsre @rera 10 s s & |
SRR (AT | B IR @F b JEFR AAE @FH [T O (AT AFe A &F F99 | 9449 (31 A 7o o,
1 Iraa sAfFA F@ B Paad BO o2 e @ odfew | e aiaife 10 ffaes orm #ea )

Find the net displacement in the complete trip.

TACHE JJ 74 2T -
Frlef AR (G FR FS ?
(1) zero / *°f (2)) 1 km (3)2.5km (4) 3.5 km
Find the total distance covered by Rohan during the round trip.
AAHS (AL TS F41 0 714G T4 -
A2 @R GG TOFE GG F© ?
(1)1 km (2) 6.28 km (3) 1.57 km (4)3.57 km
Find the average speed of Rohan
(A2a 1Y whe Fef w4t 2
AT T Tfe F9 2
(1) 3.57 km/h (2) 0.595 km/h (3) 21.43 km/h (4) zero /*¢ly

If Rohan covers half of the circular path from edge A moving along the circumference, then calculate the
displacement and distance covered by him

T (@2t A T3 2[ Jeiw Ao sifafera Jeiea AEE iy vy sfews 304, (o0 1 sfows Fat 7ad wie
v e &t
[@ZA JSIFE 22 A 79 (A0 Jreq WMHF A2 e FA03 6 G2 WG G wAg F 2

(1) 1 km, 2 km (2) 2 km, 3.14 km (3) 3.14 km, 3.57 km (4) 1 km, 3.57 km

The ray from a laser pointer hits a plane mirror and the reflected ray strikes a screen. How far away from point X
should the ray strike the mirror to cause the reflected ray to hit point R?

@Bt (FTETIE ARBIER 271 fafe 7 @em Tret witsitere wivifos 0z ©ix 2[t efswiers (2 vem vt otare &4 | aifewfore
3T R e Siare w419 3t IMRst X 73 o4t (5w g wisis <ve were w4 ?

T (FISIA 2TTBIF (AT A G (B FTarwet vl isifos 2 «ar eifewiers af aa b smim wirare #t3 | efewfers af& R
Tawte =i w4 T 3@ X 7 (A4rE T Wi e e Fha 2

Laser pomnter
Screen

1
1
8 cmi Re
' _ 14 cm
X ! Mirror
ALRLRRRRRRRRRRRRRRRRRRANARAAANAN
M ™
(2) 12 cm 3) 16 cm (4) 18 cm
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36. An object is thrown vertically upwards. The quantity which remains constant is -
Tfr bl T TeTHSICA G 70 Vet (Wl TH, (ST O (FICo! AT Fa arag Al 2
GFT TE TEFOIE Goitaa Twee fowet a1 28| @ 7 fm <A -
(1) Displacement / ¥19q¢ / g4 (2) speed / Tef®
(3) momentum / SI% / A9 (4) acceleration / g% / §a9
37. Assertion (A): Friction helps us to walk and run.
TG (A): T AT (UG T AF (A FR0 FA|
& (A): Tl 2Bl @3 (TSITS AR FCA |
Reason (R): When we push the ground backward, the ground applies the frictional force on us in the forward
direction.
IfE (R): cafem =i wfoe vita coen g, cofemt Miora wwim e siae wneita wa<e e Tt |
& (R): T2 ot Mibre Porerea e a1 2w #i7 Mt AR s w6 71 2w w1
(1) Both A and R are true and R is the correct explanation of A.
A 9% RGO 79 1% R (277 A I A% 147 |
A €32 R ToTR 79 @3 R 61 A @3 (0T it |
(2) Both A and R are true but R is not the correct explanation of A.
A% R Tern 79) € A 9215 i R 9271
A @3 RTe32 719) fF R, A @3 (3% pan =1
(3) A is true but R is false.
A %) &g R w19 |
A 7797 &g R e |
(4) Both A and R are false.
A 9% R Tord o9 |
A 932 R Tewz e |
38.

Distance

L
>

Time

The figure above shows the distance- time graph for the motion of two vehicles X and Y .Which of the following
options is true according to the situation?
@999 foT® g2 a8 X W< Y 9 =g (719 (WYSd (2= | TH (FI! [ w2
Toitaa foaivre v aife X @ik Y @3 vagsmm wefoa e | Fsfafee eaefm sy @@ e 2

(1) X is slower than Y / X, Y ©t& &4/ X, Y @7 (7F A7

(2) Y is slower than X / Y, X & &</ Y, X @7 (7T A7

(3) X and Y move at the same speed / X ®I1% Y ¥ 9if® 7w / X @22 Y @7 (@9 3%

(4) None of the above given relations can be determined

€% S9F A1 @773 e ey fifae e @aife /ot ave @ ta e Fdiae w4t T
39. Choose the symbol of variable resistance:

“/f7qe et (4T ST (@FICo!:
Toa @D AT @ 28

M AN @ @ ® @ @ —AAN—

40. A train of certain length travelling with a uniform speed of 36 km/h is crosses a bridge of 600 m in 80s. Find the
length of the train :

36 kmv/h TEfeta Fa9 4I{0© e 4 QU7 (FH9MEIT 600 m (e e WeiR #{14 F{9aCe1 80 (RS T o717 | (I

M oy fefm vt |
ffws e @ G 36 knv/h (@9 600 m 9 GF (9 80 GUFE @ 2HF T | G (7 F9 2
(1) 800 m (2) 600 m (3) 200 m (4) 100 m
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41.

42.

43.

44,

45.

46.

47.

48.

6 [LNLI7.YNSUPER 20

What is the calorific value of a fuel?

TR (T T & 2
THAA T N F 2

(1) The amount of water it can boil
TR A4 2HfeE Aol / @ 2 @ @bl AE

(2) The amount of energy produced by 1 kg of the fuel
1 kg T Teoim w4t wif@q wfqme / @ sifamia =if& 1 kg 3o Teom Fare At |

(3) The temperature at which the fuel burns / & Tarete Tgwa wael 23 / (T SN THE 72
(4) The density of the fuel / ZHa TG / TH(A T7g
Which of the following substance has the lowest ignition temperature?

TEA (FICH! AW G TS WHIRSlF F 2

Frefetes @@ “Mitda gem Tars! 7AUAEF F9 2
(1) Charcoal / Fa1 / FoFaen (2) Kerosene oil / (Faifoe (9%1 / (FCAITH (et
(3) Stone / &1 / #lie= (4) Iron / &1t / et

Which of the following is an example of rapid combustion?

T (FICO! TS FZAE CHIZAS -
Ffefee @b we varee Twizad

(1) Burning of phosphorus in air at room temperature
ATA TAETT (F1017 TAOTS FRTAIRA G / FF OIS T WErl
(2) Burning of a matchstick / S*eTa Gemel / (FHIeT2 Fifoa wael
(3) Explosion of a firecracker / T6&14 fRr=wpiaet / wiret qifera farmad
(4) Combustion of coal dust / ¢S F7eq w2l / FTEARTSIA wadl
Which fossil fuel is considered a major cause of air pollution when burned?
(! G T A1 2RO 2y F1aet Jfet oo Fal W2
(I S TR Y TACOT 2l Fiael St 27 2
(1) Coal / T (2Q)CNG /P @ f& /T an &
(3) LPG / «=1 {21 & (4) Hydrogen gas / Ti2g Te (9% / 2I2GiTe o1

What is the primary reason for fossil fuels that are considered exhaustible?

G T e R e o1 (@R ey w2
G T e Tty e et et [ e
(1) They are renewable /Z w4 (90 / QLT TAFCTTY
(2) They are formed over millions of years /2 &1 92449 oI ifde 27 / etet 77 o7 9% 404 Sifde =1
(3) They are easily produced /2 72eTe Tesifre 2 / @ate 72res Gerliwe 2
(4) They are abundant in nature /% 253 AR 2FTES (A AW / QLA 2FTOTS 2FA 2Ifwieet #ie @
Which of the following is known as 'black gold'?

TEQ (@6 F A e I T A 2

Fmfefe @@ Fite e T wAfafe 2
(1) Coal / F=&1i (2) Natural gas / 2iFfes (org / 2igfes oy
(3) Petroleum / ¢oGIfeTais (4) Coke / FF | (FF

Which of the following is a fossil fuel used in the production of fertilizers?

ST (FITCH! G T AT TLAMAS IS T ?

fmferae e Srare Te= e el 7z 2 2
(1) Coal / F7=t (2) Natural gas / &g (9% / 2ligfes M
(3) Petroleum / ¢2tGifemas (4) Paraffin wax / ¢o@ifeet % / ot i

Which one of the following metals is most likely to displace other three metals from their aqueous salt
solution?

TETE (PO 4igR oiw fefbt 4iee 2 Tt wieca it B w49 Teie @R
e Yigetea Tty @ TREE (@ TSI S TEly F16-736 (AF Siay [oib 4rere aifegiom
O ACA?

(1) Copper / ®i% / ®iit (2) Zinc / &= / vt

(3) Iron / ¢&1l / (==l (4) Silver / =l / Foll
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49.  Assertion (A): Metals like copper and aluminium are good conductors of electricity.
TfE (A): o =i i wea 4o fRyyee o sif@idt |
& (A): ot 3k welfsifemiem et 4o favyres sitat wfaaes
Reason (R): Metals have free electrons that can move easily through the metal structure, allowing electric current to
pass
& (R): 4197 T& T3 ATF 7 4192 9912 TS oifS F 2173 71 FoTe (qgies 2[R e 2T 2|
(& (R): 919 Y TS LERG AF A 41 9197 WTx 720w 271{Ze 2@ #Ata @R ([Agies 2aied SeEte o |
(1) Both A and R are true and R is the correct explanation of A.
A i< R TOTH e o1 R (207 A T 300% i<t |
A @3 RT3 7e) €31 R 291 A &3 F(5F i |
(2) Both A and R are true but R is not the correct explanation of A.
A R Tern 79) {8 A 925 i R 927
A @33 R'To3g 9] 5 R, A @3 (9% 1471 19|
(3) A is true but R is false.
A %) &g R w19 |
A %] g R et
(4) Both A and R are false.
A 9% R TotH o079 |
A @3 R TR fia|
50.  Which of the following metals does not react with dilute hydrochloric acid?
TEE (FICH! UG 7Y ZRGFE Aibed Fere R Twa ?
Faferfe @@ e =g TrgEiae wittea A [iew s e
(1) Iron / &1 / et (2) Aluminium / @@jfifeE
(3) Zinc / f&<= / vt (4) Copper / ®f% / f=it
51.  Which metal is used in the form of a foil for wrapping food?
] ANE (AR (@61 g AT BHia Taze F91 20 ?
AW (ISR Tl T fZINA (Fie 41g a2 28 ?
(1) Copper / @ist / &t (2) Tron / ¢=11 / ==Y
(3) Aluminium / @@ffsifeaTS (4) Zinc / &= / vt
52.  Which gas is produced when metals react with acids?
cafent 4g ufowa tire fafera @a, cofoat @FME! (orrTerm zn ?
T 4g oA A e vra o @ A Tesm w2
(1) Oxygen / Sf3CE (2) Carbon dioxide / FEI-TZTHZT
(3) Hydrogen / 212G T& / Q2QICE (4) Nitrogen / 71<g T / TGICE
53.  What is the main reason that polyester is popular for making dress materials?
AR 38 TeAWTA AT LTS c=rat 2y et 6 2
AT I (ST T TR 2ETAR AL TR F 2
(1) It is heavy and retains moisture well
2 YA W TS SlEWEA 41 AT | / @i i @R TS SiTArerd 9td A
(2) It is easily wrinkled and hard to maintain
2 RLE Fb 4T TE ZAF IHATIH FACH! S04 |/ @b 7ZTER FHCEF T G FHACITHA F1 Fiom
(3) It remains crisp, is easy to wash, and does not wrinkle easily
2 F0e (2 AT, (UIKTe 2SI AZLS Fb 4w / «@fb 536 <A, (it 72T @3 Foes i
(4) It is expensive and rarely available
2 AT A Y FA (A AT/ @S e 7R TRGeTe) 79 |
54.  Which of the following are necessary requirements for producing a fire?

G2 BT FALE TR (FICAIR LTAGAITSE TaS14 2
A (O FACS [WHEAIS (FIA0 LATAGAT G 2
(1) Fuel, N, , heat / Z&, N, , =%
(2) CO,, water, O, gas / CO,, %4t 0, (g / CO,, @, O, a7
(3) Fuel, O,, water / ¥, O, (9%, 2/t / T&1, O, =, Tel
(4) Fuel, O,, heat / &, O, (1%, 17l / &, O, 9071, 19t
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55.  Match the Column I with Column II: / ¥g | t3te %8 I firana / @8 [ #t2 % 11 (e

Column I / 13 Column I1 / 4=
i. Acrylic / a@Figfers a. used for making electrical switches
AT H26 A 2R F4 T
e 725 tefare 9T =
ii. Bakelite / (ATFeT20 b. synthetic fibre that resembles wool
Tog fafoat afay Fiaw =iz
TR S (FATS G (B Fiaw 0
iii. PET / #12% c. used for making bottles & containers
5% I 2119 ST [T F91 T
@S € FTHLA (OIS JIZS T
iv. Polythene / if&fem d. A type of plastic used in carry bags
&R e F3ze afiy 2ifes
& ol tefaa T IRz @ w@eer AT
(1)i—b,ii—a,iii—c,iv—d (2)i—d,ii—a,iii—b,iv—c
(3)i—Db,ii—d,iii—a,iv—c 4)i—c,ii—a,iii—d,iv-Db
56.  Which of the following is not an inflammable substance?
TR (HITCO! Gerere ofniel 7= ?
frfafee @ vy smd Ta e
(1) Alcohol / 7 / SHECFIZE
(2) Wood / %16
(3) Ethanol / 22w

(4) Liquefied petroleum gas / Saaiig® (oG fera ¢az / Tﬁﬁlﬂﬁ CGITeTaS o7
57. Assertion (A): Thermosetting plastics cannot be softened by heating after they are molded.
& (A): ATATRB: 2B T8 F311 (212 o129 F( @ @ @i
& (A): AR 2BFa @Fa AFS T8 20e1 94w FACa€ 79 27 1|
Reason (R): Thermosetting plastics have a cross-linked polymer structure.
If& (R): AT AfBemea @bt egirifere wifemta ataf ot
& (R): ATTADR 2R wret =ife sifemg siom s |
(1) Both A and R are true and R is the correct explanation of A.
A O R T0H Ae) W% R (207 A T A00F |
A €33 R Towt 7e) 3R R 281 A @3 A5 i< |
(2) Both A and R are true but R is not the correct explanation of A.
A O R ¥orH 7] € A 7 2iFe i< R 7231
A @32 R'To3g 9] 5 R, A @3 (9% 1471 19|
(3) A is true but R is false.
A %) &g R w19 |
A %] g R et
(4) Both A and R are false.
A 9% R TotH o079 |
A @3 RTeTR fae|
58.  Which of the following can displace copper from copper sulphate?
TR (FICHICA F2A (TN) RIEFoA 2[4 FA TS F(a AT ?
Faferfe @@ F2IR AACES (AF FANT ATCTI2F FATS I3 2

(1) Silver / ot / @it (2) Zinc / &= / vt
(3) Platinum / ¢2ifoaist / caifoas (4) Gold / Giet / Gt
59.  Which of the following oxide is acidic in nature?
TR (FIC5! SRS SHGTOT ?
Frferfire wmieres g @@ wifFe @z
(1) CaO (2) AL,0,
3)S0, (4) K,0
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60.

61.

62.

63.

64.

65.

66.

67.

Bl AuMALETZX T

1s known as artificial silk.

F Fiaw (I5% I T |
Flaw = T #ifafoe)
(1) Rayon / (48 / (@59 (2) Nylon / slize™
(3) Polyester / #ifeT8a / #AfciasBia (4) None of these / «Bte 7127 / @& e

Which type of fertilizer is most likely to contribute to soil acidification if used excessively?
(@I 491 TR TG4 IR FACA A6d AHE @el I o417 2
(I 4R A A4 TRFACE! FZTS! T, AW AS (A 92 Fa1 2 ?

(1) Organic fertilizer / t&fa A4 / (5@ AR

(2) Phosphatic fertilizer / T=TFb AR / THAFAMA AQ

(3) Nitrogenous fertilizer / &G TS TS AR / MGG AR

(4) Potassic fertilizer / #Bifoats 7= / #Gifmm A

Which microorganism is responsible for the process of fermentation in the production of alcohol?

71 BeriweTe fFe i EFae AA @ Eot SoEia wiE 2
SIEHITE CRAWMCA (FE g 2lfermia oo (@ S wiE 2

(1) Virus / Si2aie / o2 (2) Fungi (Yeast) / (23d / 2a%
(3) Bacteria / (at3fam / peafamt (4) Algae / (&% / @A

Which microorganism is used in the production of antibiotics?

G5 oF TLAWTS (FICH! SO jI2E F4 T 2
A BE Teom (@ WG I 2 ?
(1) Viruses / Sizag / Sizarg (2) Algae / (*/=T12 / C*i=
(3) Bacteria / (ar3femt / apicgfamt (4) Protozoa / @6'&'al / (ATHITSI!
Which gas is the major cause of acid rain?
(FICH! (9% AfbT qageq ety Fiae ?
(@ 7 I 24l FE 2
(1) Oxygen / SIfHTE
(2) Sulfur dioxide / GIET®IE B2 SFHIRE / AETFER TR SHIZE
(3) Nitrogen / 128 T8 / TAGICE
(4) Hydrogen / Ti3g (& / Qg

Which cell organelle is primarily responsible for packaging and transporting proteins and lipids within the cell?

FI0! (1T SraAY (1T [oeqe aifon =i fif#re coiraien @i #f azeE i ddumie v -
@9 @R TraNY (2o @3 fHfore “iaeR @3k wifsazrem o wift ¢

(1) Ribosomes / 23" / ARTATEN

(2) Endoplasmic reticulum / Srgseiaaim Giferrt / srgze@A onifeest

(3) Golgi apparatus / 9/Tfal 7Kg / 974 QoATaB

(4) Lysosomes / #[2g & S / FRCACE™

Which of the following reproductive processes does NOT involve fertilization?

TR (0! e aferare ey wive = 2
oA (@A ererm elferary Frasa 906 1 2
(1) Sexual reproduction / (= @G
(2) Binary fission / t&® fqetem / fa frerem
(3) External fertilization / 323 frans / AifEye frawe
(4) Internal fertilization / =1@3 fras / Srergate farass

Which hormone is primarily responsible for the development of secondary sexual characteristics in males during
adolescence?

CFTHA FIETS 2Fq9 (Mol (T @A [EIa AT (FI0o! 23 ety wid 2
TR FICA ZFACR (el (TGI8 RFTHR Ty Wislt ZA 0 TS (i 2
(1) Estrogen / 23t / QrBICET
(2) Progesterone / ST B / TS Ba7
(3) Testosterone / (BB / (BLBITFHA
(4) Adrenaline / afgeafem / afgaifem
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68.  Which of the following measures is most effective in reducing air pollution?
I &AFEG ZH FAS THR (FIACH! FIF WBIeSE (@R T ?
Y 2Re FACAR T IACHC FAFF GIF! (FIAD 2
(1) Increasing the number of diesel vehicles / fetee1 arzma wixa 3fa Fat / foree atifea wan 3fE wat
(2) Promoting the use of renewable energy sources
TRERCICAN * TG TeE TIRTE 2T T4/ AASACCAN *(SF T IR A FAl
(3) Reducing tree plantation / FFCAIAY ZHA FF /| FHCAA FACA
(4) Encouraging deforestation / I RITF CLATZE F41 / I RS FAF CLAZ T4
69. Statement 1: Nitrogen-fixing bacteria convert atmospheric nitrogen into a form that plants can absorb and use.
& 1: TGrow (AT (@R ATNGAT AGEF AT Gt Foltsr wolglie wa [ Tfom oitwe ol gaz=
Ff 7|
U@ 1: ALEITTA EFF IR A AANGAT ARG CEAE SR CKITRETAN ¢ JFRACII] Tt TR FeA |
Statement 2: Denitrifying bacteria convert nitrates in the soil back into nitrogen gas, which is released into the
atmosphere

e 2: e rad @l wite 9F TG 219 ARrEE (wa welgee Fre U Agmesta fefe =3
Tfe 2:femizGeiz: aicsfa mftrs <t TiEsee TRGETE A weielte T T agmets e 2
(1) Both Statement 1 and Statement 2 are correct
TfE 1 o 2 qranl wa / T 1 @92 2 Torg Ale
(2) Statement 1 is correct, but Statement 2 is incorrect
T 1 wm, T8 e 2 wwm / T 1 7ls, Feelie 2 wa
(3) Statement 1 is incorrect, but Statement 2 is correct
e 1 wus e i 2 w5/ e | va, e tfe 2 #ie
(4) Both Statement 1 and Statement 2 are incorrect

T& | oI 2 At oes / Ofe | 932 2 Teae oo

70. Column A (Microorganisms). Column B (Roles)
T = (TG / AYEI) ‘o (She)
i. Yeast/ 3% a. Fixes nitrogen in leguminous plants
e Tigre wEaee (54 oea | / @i Sfem aizgGices & e
ii. Lactobacillus b. Causes malaria
TBTAMbeR /| FCBTAREIH AR F9F /iataat 3 s
iii. Rhizobium c. Converts sugar into alcohol
iz o/ afrenfam o FATE Feliglae Fa / fofers sy #ifadrs Fa
iv. Plasmodium d. Converts milk into curd
ASCNGA / 2GR MIAR O 031 FoBAS A |/ FUE 72 FAGHS FCA
(1) i- ¢, ii-d, iii-a, iv-b (2) i- d, ii-a, iii-c, iv-b
(3) i- ¢, ii-a, iii-b, iv-d (4) i- a, ii-d, iii-c, iv-b
71.  Species that is not found in a particular region but introduced from another place is known as .
B! ewrife @it @bt e weete ot T g oy @ 1% o[ o 27, o Qe = |
@ 2iEifS @I o Fwe were sthem g fFe oW B9 (ArF S 28 o |
(1) Endemic / giaa efenfe

(2) Exotic species / AfZaioe 2wt / afzaiare aeife
(3) Endangered species / 3o 2/@if®
(4) Extinct species / f7e]@ arenife
72.  Select the method(s) of irrigation which can be employed on uneven land.

S TGS IR FIA 7 TR 2w A 4 -

T TS (@ G 7@t FIRE F41 T4 ©f 2 -
(i) Moat / Ff#@a
(i) Sprinkler / 7t Rbedt JAF / 2l BT
(iii) Chain pump / f6=1 =i FRTa =1 Bi61 / B2 =A=st
(iv) Drip System / 2/t feizatat 7% / ot @<z
(1) (ii) and (iv) / (ii) =< (iv) / (ii) @32 (iv) (2) only (iv) / (FF=1 (iv) / ¥Y (iv)
(3) (i), (ii) and (iii) / (1), (ii) == (iii) / (1), (ii) @32 (iii) (4) (1) and (i) / (1) =< (i) / (1) @32 (ii)
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73.  Assertion (A): Mitochondria are called the “powerhouse of the cell” because they generate ATP, the energy
currency of the cell.

TfE (A): D Figa @ae «fea s 3 @ia @ Fie 2 @fof (ATP) Term Fta )
Tf& (A): TRHRFFGAE (FITaa *If& 92 21 27 F1A9 22 ATP Teom Fd |
Reason (R): Ribosomes are involved in protein synthesis, which helps in producing energy for the cell
If& (R): 3T el Fsremera wiere ©fve fra (@191 A3 *ife Teriivas 72w S|
(& (R): ARCATE (2iiioa Teoima 7z wive, T2l (@Fitaa T *fe Teoiva 4|
(1) Both A and R are true and R is the correct explanation of A.
A 9% R TS0 79 A% R (20 A I A0F 14 |
A @3 RT3 7e) €3] R 291 A &7 F(5F i |
(2) Both A and R are true but R is not the correct explanation of A.
A R Tern 79) {8 A 9 25 i R 927
A @33 R'To3g 9] 5 R, A @7 (9% 1471 19|
(3) A is true but R is false.
A 77%] 5% R o01e)
A %] g R et
(4) Both A and R are false.
A 9% R ToTH S079)
A @3 R TeT faa
74. The main site of different types of cellular activities is:
Rfew ¥3o1 @& FAEe= @ 3@ 2 -
ffen eiwitaa (@19 FitFeiTem ey 3= 2@ -
(1) Mitochondrion / MZG & / MEGIwFgat
(2) Nucleus / (F19(F% / (FAFH
(3) Cytoplasm / (Frae@ / ARG i
(4) Plasma membrane / (FMFIF9¢ / (FF=[99
75.  Arrange the following agricultural practices in the order in which they are followed.
e 3 FrTeet s A9 e A -
frefarfie 3R FrfEs wra T sepita Aee -

1. Harvesting / */¥1j 521 / & Fio1 2. Sowing / % FoM / Jw 32

3. Storage / ALTH / AT 4. Irrigation / GreTew

5. Preparation of soil / Wifb 2@ge w4t / Wfoa e@fe

(1) 152—3—-4-5 (2) 5—52—4—1->3 3)2—>1-3-5—4 (4) 553—-4—-1-2

76.  Which organisms are microscopic and dependent on host organisms for reproduction?

(FIH! EIF (S TG Wi 2GS A0 O G99 9990 fee ?
@ Gl wfaFiar qar e T o Sitdd Boik e 2

(1) Algae / (%1 / C*T= (2) Protozoa / &6'&al / CATBITSI
(3) Viruses / ©iZaig / Sizam (4) Bacteria / argfam / pesfamt
77.  Which one of the following is not a method of food preservation?
Frefefs (FIATH! <M ATH 2 72 ?
TNba @D AWy AR oS 77 2
(1) Salting / =79 AL / 19 AL G (2) Drying / ¥4l / ¥t
(3) Boiling / Tet#1a1 / (BT (4) Pickling / SII614 A / <IG1A Cofd &4

78.  Which of the following methods of water purification will not kill microorganisms?

A (FICO! T RuaFac AT SIGE LA T 2
Tba (@17 T [ Fa0 AROH G919 R FCA A1 2

(1) Distillation / #iT&« (2) Boiling / TeteTdl / GRBIC
(3) Chlorination / Ffatees / ifaremie (4) Filtration / @if<=ie / #Afamiast
79. A female gamete carries chromosome (s)
B SIS TGS AMF |/ B T (TS AT |
(I)one Y/ @Bl Y / &6 Y (2) one X and one Y / @Bt X =1 @Bt Y / @&F61 X @3 @61 Y
(3) two X / w8t X / ¥f6 X (4) one X / @Bt X / @36 X
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80. Statement 1: Sweat glands, salivary glands and oil glands do not release their secretions directly into the blood.
Tfe 1: =i &y, w1 afy o (on stz fiem e (eebmite oot Te 7@ a|
e 1: =W afE, wie afg eae (a1 2f% 7@ e oiwma Hevme fefe st =

Statement 2: These glands do not have ducts.

i 2: @2 afgraras w@ T

e 2: 3 afyufens aet A |
(1) Both statements are correct. / Eﬁm% s / 4o Tl ua
(2) Only statement 2 is correct. / (F961 O 2 && / (FI61 O 2 &F
(3) Both statement are incorrect / FTHIb! & @Ieg / 4o Tiee ©a
(4) Only statement 1 is correct / (F961 Gf& | ¥F/ (961 C& 1 ©F

:  GENERAL MATHEMATICS /74134 ofds /tafad ofds

1 1
81. Ifxy=band —+— =a,then (x +y)* equals
Xy

1
ﬂﬁxy=bw—2+—2=aiﬂ,m(x+y)2 INALT -
y
1 1
My =b GR —+—=a T @ (x +y)’ 94T LA -
Xy
(1) (a + 2b)° (2)a’+b’ (3) b (ab+2) 4) 1 +2b
a
82. The solution of the equation Oxt7 =4x+5is
3x+2 2x+43
6x+7 4x+5
YT e st 279 -
3x+2 2x+3
6x+7 4x+5
LT et e 2T -
3x+2 2x+3
11 13 9 2
1) —— 2) —— 3) —— 4) —=
(D 5 (2) 1 3) 1 “) T
83. 25 times the square of 125 is same as
1253 39fq 25 @t 2q -
125 @@ F0of4 25 &0 273 -

(1) square of 625 / 625 935 / 625 @7 qof
(2) 5 times the square of 25 / 25 9394 5 @ / 25 @7 q0ofq 5 @
(3) 125 times the square of 25 /25 F35(@ 125 @l /25 @2 A5 125 @
(4) 25 times the square of 5/ 5 954 25 wel / 5 @7 FCod 25 @el
84. What is the value of 3(x* — 4x) when x = 4?

MW x = 429, (307 3(x° — 4x) I F 23?2

MW x = 4 T, O3 3(x* — 4x) 97 7 & 23 2
(15 ()0 (3) 30 (4) 55

85. If 3lx3% = 12% , then the value of ‘x’ is:

X

1 1
RIG 3—><3i=12— T, (O X’ ANFZT -
x 4 2
I .3 1
= 3_X3Z:125 T, O0F X @9 T A -
X
(H1 (2)4 (3)2 43
86. The square root of 102 up to three places of decimal is

ot weifsis Biwita1 102 T 35w 29 -
o1 wifers g wraf# 102 @7 3957 -
(1) 10.098 (2) 10.099 (3) 10.097 (4) 10.095
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87. If (x+lj =4, find the value of (xz +Lj

2
X X

T (x+lj=4 =, (90T (xz +L2j T Fefr =t / wfe (x+l]:4 2, o (xz +i2j a7 3 fefa #21
X X X X
(1)13 (2) 14 (3) 16 (4)17

88. Given that —6P-9 _2P+9

, find the value of P.

i _61;_9:2]3;9 =, (0% P A WA fefa w411 / A _61;_9:2]3;9 7, ©73 P @3 T fiefat 741
(1) 4 )2 3)3 @3

8
89.  What number should be subtracted from — 5 to get 5

—5amﬁsﬁmsﬁ¢ﬁm§a’a|/—s cﬂwwﬁmﬂwﬁmmgml

-53 37 9 -9
(1) 9 2) 9 3) 37 “4) 37
90. Cube root of a number when divided by 11 gives 22. The number is:
(T @B AR Tl 113 [Reiey Ffaee 22 28, ARAGis 279 -
(T AR T | 1 B S ate Siofret 22 T, O3 AR 203 -
(1) 242° (2) 124° (3) 22° ) 11°

1 3 1
91. Shalini has to cut out circles of diameter IZ cm from an aluminium strip of dimensions SZ cm by IZ cm. How

many full circles can shalini cut?

wiferica 8%@&:% 1%@&3 (ST A5 Gt 2ieq 7t I%C@ﬁgaﬂﬂﬁiﬁﬁﬁwﬁw ifsa ?

e @ 8%@&?5‘51’7@ 1imﬁmﬁﬁrﬁaﬁwqﬁﬁmmm %mﬁmﬁﬁr@wm%mef
€ FI61 A ?

< 8% cm >
171 cm/
{
(1)8 )9 3)7 411

92. A coinis tossed 200 times and head appeared 120 times. The probability of getting a head in this experiment is:
@51 @ 200 Q@ BLFAT FECA 120 @ e (oA AR | G2 CFAS B! N (ANE TSRSl (20% -
@B TWTF 200 7 TLFAS F41 201 120 A & A, 2 #AFrFT ¢ A FTuia fHedm 4t

1 3 1 4
(1) 5 @) 3 3) 3 4) 3

93. Data collected in a survey shows that 40% of the buyers are interested in buying a particular brand of tooth paste.
The central angle of the sector of the pie chart representing this information is

@5t FATFS $LY AxER FCATS W CATR (T 40% (Foiz <ot farera aed b (48 oS g el @2 oo« 1R
oaa wiat e Ffare JeIoR e F 41 (#6129 -
*e& A 40 T (FO! GF (B WS TS GALFTT FAF T WY, T& SAF SoFiomiat i oram Jeie=

(@It sAfaiot Ft 2@ ?
(1) 120° (2) 150° (3) 144° (4) 40°
94. Tally marks are used to find:
_ mrRm e or eea F 4w |
st o F fefrem o a9z =3 -
(1) class intervals / (29 S@areT / (1 SGAT (2) range / #ife7a / s
(3) frequency / IAFTS! / FHAETS! (4) upper limit / b A
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95.

96.

97.

98.

99.

100.

101.

102.

103.

104.
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If one member of a Pythagorean triplet is 2m, then the other two members are:
T sAf2AsiFT faora @bt AL 2m 2, (ST =W K5t AN 2T -
T AATAA GG GH AN 2m 2, OCF O G0 AL T4 -

()m, m’+1 Qm’+1,m -1 G)m’,m’- 1 (4)m’, m+1
A perfect square number having n digits, where n is even, will have square root with
n 5t =iz fAf*E @Bt 2jef qof A 7@ n TZrR JA FARAT | ZA= 39 ETS B =i AfFa |
A G5 Sefasf AR T SCEA AN n GAR n T Yo A T, O AN BA siCeTa I® A A2
.. n . . n . . n+tl) . .
(1)(n+ 1) digit 2) Edlglt 3) Edlglt @) (TJ digit

The value of \/ 248+4/52++/144 is:
\/248+\/52+\/144 IMTZI-/ \/248+\/52+\/144 UERICEIS R

(1) 14 (2) 12 (3) 16 4) 13
Kaustubh had 60 flowers. He offered some flowers in temple and found that the ratio of the number of remaining
flowers to that of flowers in the beginning is 3:5. Find the number of flowers offered by him in the temple.

(F1gS 7663 60 51 T witr | Tt g oo sfratat Sioitpiare ofF 2ios AF! 4@ T AiF STSiire ©F 2ee 4F
ToTq TR 3:5 T B wifae Seresiat e e 2 -
@Fgred F1tr 60 T T4 o, o1 fag Tt Wi viv Fae1 @3 (749 (7 SRS T TR} € BFd TCeTd ARAF
TS 3:5 W, A WA Wi T TN IR FS 2
(1) 28 (2) 26 (3) 24 (4) 22
Which of the following can never be the measure of exterior angle of a regular polygon?
TR (FICO! Bl A TZYE e (I Wt 2T (FiAa 2
Fefafie @b Feme @e Tl sgerem e @i 2f e zrs sia 2
(1)22° (2) 36° (3) 45° (4) 30°
How many non — overlapping triangles can we make in a n — gon (polygon having n sides), by joining the vertices?

n 12 AHE Tage @bre AT @26t A F4 esa ¢S iz fFnn! faew o wf9 wif<)
n 312 A48 @l Tzerea A i wfots @it v @i Foafe siem faes tof wat T e
(1H)n-1 2)n-2 (3)n-3 4)n-4
If x be any integer different from o and m, n be any integers, then (x™)" is equal to
T x REIT @Bt =r2e 4 27, {1 o AIE m O 52 A< n ¢ R e A1 27, (0% ()" IATLZD -
X T 0 @3 m (ATF AW (FICA! 7l AT 2, n (@ @FAE AR T, ()" 97 T =3 -

(1) ™D @)™ 3) = (4) x™
X

How many such numbers are equal to their cube but not equal to their square?
fFwieot ket T3 T e g qefq A 2w 2
Foulel At SITwa e T [ Sitrd oo e T 2
H2 21 3)0 43

1 1
IfP=7+ 43 and PQ = 1, then what is the value of —+-—?
PTQ

TP =7+ 4\/§WPQ=liﬂ,m%+é?ﬂiﬂﬁsﬂm?

11
W P=7+ 43 PQ= 1T, T+ oy oA A FO2

(1) 196 (2) 194
(3) 206 (4) 182

10
Two positive integers differ by 4 and the sum of their reciprocals is E . Then, one of the numbers is —

. 1
5! 4GS AT 2A1<fFT 4 Wi TR0 WATFD (T 2—? A, ©ITE 61 FRYTI 2] -

7% 4GS A 20T 4 G SR A TS % A, O G (6 A T -
(1) 3 2) 1 3)5 (4) 21
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105. Between 2 positive rational numbers separated by 1 unit, there is a rational number in their midway/halfway, such

15
that sum of all 3 rational numbers is ? . What can be said about the three numbers:

75! 4SS AT AR T 2w 1 @, 201 ere @bt wAfarem wivayt wits =4 Aita 3 5 wifawwm weaa caerws

%‘iﬂuﬂ?&ﬁﬁa&mﬁm%m AAf?

U% 4g o IR 21T | GFF 3% o o FRAF TS BT A9 GF (0 e | SF F0 qee feaio
TR AT (AT %5 20, O3 @ Ao T i A 2

(1) All the numbers are less than 1 / SIBI2CFLB! AL 1 ©0F 7 / 74 7R 1 @9 (AF (R
(2) All 3 numbers are greater than 1 / &2 fefRebt wivayt 1907 ©iea / foafd AR 1 @a (5t 7T
(3) All 3 numbers are between 0 and 3 / €2 fefReB! A2 0 @i 3 7 wEre / foa® AR 0 (AF 3 @7 Y
(4) None of these / @Bl€ 7T / ¢ oS =t
106. Find out which of the following equations have x =2, y =1 as a solution.
TEE (FICH! ANFIR AMLTS x = 2, y = | A (A A4 |
Fmferfae @i wEeaet afe o x = 2, y = | @36 g 2
(1) 2x +5y=9 (i)x+y+4=0
(1) (i) only / 5tf@ (1) / Wy (1) (2) (i1) only / 3@ (ii) / WY@ (i1)
(3) (i) and (ii) Both / (i) == (ii) G5t / (i) @ (ii) T2 (4) None of these / «Bte 7127 / @F e 7t
107. ABCD is a rhombus such that perpendicular bisector of AB passes through D. Find the two adjacent angles of
rhombus.

ABCD /5514 AB 3 o757 fgded ®i@ D ST 21 (2 T | I96C619 45! Awze @it e 4t |
ABCD 3907 AB 3r2d ermita <% D favga w1y e wifees w2 | 79073 w2t 7@l @i s f[efa weat |
(1) 30° & 150° (2) 90° & 90° (3) 45° & 135° (4) 60° & 120°
108. The speed of a boat in still water is 9kmph and the speed of stream is 6kmph. If the boat covers a round trip journey
in 6h, then find the time taken by the boat to complete the downstream journey?

%3 #iifre @em Thex @t 9 FH/TH T @RS AW @9t 6 FefEe/aSt | 7w whe wm «@a= #ie 2 91 witzre
A 6 T, (ST ACUTA 7oA Wi ¢al qrat sr=2)ef FeaTs Resi w7 =Aifod 2

ot (e afe 9 fFf/ast a3k @itea oife 6 Fhvast, afn (Tl 6 o517 Tretare wom w3, o @irea
ST @ TS FACS (NRIOA I T R ?

1 3 1
(1) 2h ) 1h 3) IZh @) 15h

109. Ajay and vijay have 25 chocolates in total. If Ajay gives 3 chocolates to Vijay, then the number of chocolates with
them is in the ratio 2:3. Find the number of chocolates with Ajay and Vijay, respectively

oo W ferEa evae 79 25 baten iy | 4% wren fewa 3 5 vares Wi (ot Piea evae 4 vatesa Ssie
2:3 2| O[Ty Oi% Rewd 6ba® 491 5HCend WL O -
e ¢ ReER FirR (I 25 b 5F0et iy, o 3 b 5atet Ao Wee, Sitwa Sy 5aTemsd S #iTs 2:3 T3 91,
7 oIE ¢ [AeEa FiTR (G 5HCEed AN TAGC -

(1) 20, 30 (2) 15,10

(3) 10, 15 (4) None of these / @b1e 727 / @& o€ I

) a
is equal to

110. For what value of a, the expression

a—8 a—=6
2

a4 & e 31 5 I q?

-8 -6
atﬂﬁ@ﬂﬂmm%tﬂﬁma El1C s

1)7 2)3 3) 12 )5
111, If /2 ++/x =3, thenx=?
T 2 +/x =3 T, T x=?
T \2+/x =3 T @ =2
(1)1 @) 7 (3) /49 (4) 49
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112. Which following rational numbers has no reciprocals?

o9 (FICH! AT TR (FCA AN G 2

Fefefie @ Tem Aia wEme (R 2
3 7 5
1) — 2) — 3)0 4) —
(1) 5 ) 5 3) “) 9
113. Square of an even number is —
Bt o AL 39 (2R -
Gl AR 39 203 -

(1) An even number / <5t o FRL / 10 A TRt
(2) An odd number / @Bt g AL / G TH STg A AL
(3) Sometimes even sometimes odd / (FTETRAI I (FTSTAT TGN / FACA A, FACA SN
(4) None of these / @Bl€ 7T / ¢F oS =1t
-2 7 -4 2

114. The given rational number are —,—,——,—. The sum of the greatest and the least rational number is —
5
-2 7 -4 2
ERTUrEr) AT TR (FZOIE FOIZOLF TIET Wi H: AT AL Caeret 29 -
-2 7 -4 2
383, T AR T ITEN @ FEew JAW AR TS TA -
47 3 =22 -12
1) — 2) — 3) — 4) —
()63 ()40 ()15 ()27

115. The perimeter of a rhombus is 160 cm and one diagonal is 10 cm long, then the length of the other diagonal is —

51 TR 2AfTF 160 »:fiis o Ta9 @bl Fefq (7 10 (Refz Z0e, Siwes! S (7 29 -
160 At #ifgFn {8 sl a90m Feefa oy 10 IS 20e, opig Feefa ore 203 -

(1) V10 cm ) 37 em (3) 3047 cm (@) \/41 cm
116. Solve forx. if 251 =1
3x+2
I 2x+1 =173, (0% x I W ey F41
3x+2
ki 2x+1 =123, 9rd x @9 W= [Fefm F91
3x+2
(H1 (2)2 (3)-1 4) -2

117. The value of (12 +1° +1* +...+110°)is—
(12 +1P 41 +...+11°°) IA2E -
(12 +P+1° +...+11°°) «F ¥ A -

(1) 99 (2) 100 (3) 101 @) 1111
118. xa(b—c) . xb(c—a) . xc(a—b) -9

(1)-1 (2) 0 3) 1 (4)2

1 1
119. If a? +b* —c? =0, then (a+b—c)2is—
1 1 1
;W a2 +b% —c? =0T, (@ (a+b—c)2?7n?l-
1 1 1

MW a2 +b2 —c2 =07, o@ (a+b—c)2«ﬂ‘slﬂ7~l-

(1)2ab (2) 2 bc (3)4ab (4) 4 ac
120. Which point lies only on y—axis?
TETS frE (@l A y-orEs witg ?
Fefefie @@ /Wb o Tor o[itgs ¢
(1) (2,0 (2)(2,0) (3)(0,-2) 4 2,-2)
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REASONING / fagfag / fawfag

©00000000000000000000000000000000000000000000000000000000000000000000

121. Which word does NOT belong with the others?

.
.
°

.

weTe frm wifste ot @ife Tloneat |
Fefaiie e == sl A g T e
(1) tyre / BaE / BIEE (2) steering wheel / GI#TRIT 5Ft / 56T BiFt
(3) engine /2f&a (4) car / oS
122. Select the correct option that indicates the arrangement of the given words in the order in which they appear in an
English dictionary.

TAE ST T ST weT wa R AR A |

(a) Power (b) Piece (c) Peace (d) Poem
(e) Palm
(1)e,d,c,b,a (2)b,c,a,e,d (3)e,c,b,d, a (4)a,b,c,d, e
123. ‘Experimenter’ is related to ‘Lab’ in the same way as ‘Chef” is related to *
T ‘Experimenter’ (51 ‘Lab’ q (® 7@ ® 27, (9% ‘Chef* (B I =9i® Wﬁﬁ 23|
‘Experimenter’ ¥ ‘Lab’ @7 7T 7=2(fFS 27, ©7F ‘Chef” F17 AT A»FTS |
(1) Cooking (2) Food (3) Dishes (4) Kitchen

124. In a certain code, WORKER is written as OKROKR. How will ASSUME be written in that code?
@51 WS AFee WORKER F OKROKR 251t o4l 271 | R td@e ASSUME F (St fa1dt 232
WORKER *#6t& OKROKR &I (141 71, ASSUME *# {60 & ©ita (214t Al 2

(1) SUESUE (2) SUESVE (3) SUMSUM (4) SSESSE
125. Which of the following numbers will replace the question mark (?) in the given series?
were i (HATHTS el (?) o ot f et 3fea e
2a (HAre eMtaleS B (2) ua Yiffacs Fva @ i wae
8, 18, 38, 78, 158, ?
(1) 318 (2) 340 (3) 290 (4) 268
126. Which two numbers should be interchanged to make the given equation correct?
TETS Wl AREACTH! $F FACA (Fi Y1 AR A B Al 2
(I D %A B SIHe-qWe FACE TR FANFAD A 204 2
8x9+4+5-3=2
(1)8and 4/ 8«4 /8 ¥k 4 (2)2and5/29®w 5 /2 @35
(3)3and 9/3 ==« 9 /3 @R 9 (4)9and2 /9«2 /9 @R 2
127. In the following question, select the related letter pair from the given alternatives.
TETS fra FAFRCH! 2ol Faata wwm ! AR Tlereat |
awe gl (e Tife o (et fdioa T
KW: FR::?
(1) OC: CP (2) AB: BM (3) BM: WO (4) IU: DP
128. Select the combination of letters that when sequentially placed in the gaps of the given letter series will
complete the series.
weTe Al weed (A ojof Ffra wa gt AR Tl |
Frftee ARG T2 FACS HeTZITA TN A SrFAE 203 -
ac_d b cbdd a bddb
(1) bdabe (2) bdbca (3) bdcab (4) cbdbe
129. In a code language, SUNDAY is written as DNUAYS. How will MOTHER be written as in that language?
B! ACFEF SE® SUNDAY & DNUAYS f&oieet foreit =3, (ot® R Aisewfes eiare MOTHER % & feoitat

o g'g?
GF % ATFEF ©rEm, SUNDAY =6 DNUAYS 23t (1<l 917, ©73 MOTHER *@{60& $ ©Ita (@12 TiTd 2
(1) HTEOMR (2) HTOERM (3) HOTERM (4) THEORM

130. Which two signs should be interchanged in the following equation to make it correct?

TeTS Wl AREACTH! ©G FAACA (1 Yo! (5F Fewmi STt F14a w16 2
@ % Brza B ower-awe Fate RS ANFIG AE 20A 2
9-3+12x8+4=11
(1)tand —/+< —/ + @98 — (2) +and x / + &< x / + €98 ¥
(3)—and + /%% + / — @R + (4) +and +/ + o0 ~ / + @I ~
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131. If DIG is coded as 25 and CUT is codes as 49, then how will KICK be coded as?
Tfw DIG (51 25 =i CUT (Bt 49 q a4t fordt 29, (ot KICK 7 f& wea fovat 2°a 2
af% DIG *f6 25 @it @ CUT =16 49 wiat fofee 27, wta KICK *fbq werwe 274 -
(1)43 (2) 39 (3)41 (4) 34
132. Two different positions of the same dice are shown. Which number will be at the top if 6 is at the bottom
ot 2Pt &6 vb! fom sagM (el (2R T TR TSNS 6 ATF (STE AFS (FICo! AL A3 2
aF % w6 7o Sge (Tt AR 6 A7 TE T FEE TF, O TATH SEEe A =0 ?

5 2

118)| 3|1

(1) 4 (2)3 (3)5 4)2
133. If BACK is coded as 11312 and CAKE is coded as 51113, then how will MADE be coded as?
% BACK % 11312 %1/ CAKE & 51113 244 ot =, (908 MADE % & wa foait 2'a 2

BACK *[t39 #tF® 11312, CAKE *[t#€ ACFS 51113 20, MADE *[T#9 ALFS TS -

(1) 51413 (2) 54113 (3) 31145 (4) 13145
134. How many triangles are there in the following figure?
oot frant foatsre 39 feweiot fags =it ?
Frm ren fora i Foef faew witg ?
(1) 14 (2) 18 (3)20 (4) 16

135. The average of 9 numbers is 40. If the average of the first five numbers is 38 and that of the last five is 50, then
what is the fifth number?
9 Bt R 4T 40, T 2w 2ABB! AL 51T 38 WF (T #A65! AR 5T 50 T, (SCF 21463 A 7 2
9 5 7epia a1e 40, 7w 212w 75 A T 38, v (TR 5 6 AT T 50 TW, $F AT AR 23-
(1) 90 (2) 84 (3)78 (4) 80
136. If South-East becomes North, North-East becomes West and so on, what will South-West become?
T wiwwol-51a Taq, TEI-97 Yo% G2wta (2 AF (org wiwe-lf*ow fF 292
T v 7 Wt Taq, Ted 27 e 2if#ow 2w, ©ra vl 2% 274 -

(1) East/ o@/ %& (2) North /T&a /Taq
(3) South / wf&Fe (4) West / #if%p%
137. Find the odd one out:
weTs! AR Tferedt:
Rree s #:
(1) BDG (2) CFI (3) DHL (4) EIM

138. From the given alternative words, select the word which can be formed using the letters of the given word:

ToTS T WHCHIE T (F20! FIRIE T (FICH! *% 19w w4 2fif4 2

frfertire *tam erwacfem ity sifde Tom < 2@ ?
‘MULTIPLICATION’
(1) MUTUAL (2) LIMITATION (3) APPLICATION (4) NOTION
139. If P denotes ‘+’, Q denotes ‘—’, R denotes ‘+’, and S denotes ‘x’, then: 18S64R16Q6P9 = ?
W P A 4+, Q WA ‘—, R WA = Wi S WA “x° T, (90T 18S64R16Q6P9 =?
MW P WA +°, Q WA —°, R A +* @3 S Mt <’ T, Ord 18S64R 16Q6P9 = 2
(1115 )75 (3) 55 4) 25
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140. Identify the odd one.

et ore 4|
Rrere el biee #41
G
(A) (B) (€ (D)
(1) (A) (2) (B) (3) (O 4) (D)

141. Statements: /Tf& :
I. Some appliances are electronic.

g gl wERGe 2 |/ g @Rl @ e |

II. Some electronics are tube lights.

g gt (20x 084 1125 | / fog resiae ze1 fhea wgs |
Conclusions: / F&i® :

I. Some appliances are tube lights.

ogm ERG e (2re 03 wLs | / g a@eiife 2= T =1%5 |
II. No tube light is an appliance.

T 5% =1es stegfer 72w |/ i 5 w2 v 7
(1) Only conclusion I follows. / (&9 P& [ Seprac F4i 27 | / M@ Prare [ =pasd 3|
(2) Neither conclusion I nor II follows.
191t [ @I Praieg orprae 4t @1t 12|/ Fraig [ @@k 11 @ eiive w1 5@
(3) Only conclusion II follows. / (4% P&l 11 Sepas T4t (22| / ME Fraig 11 swwae 74 |

(4) Either conclusion I or II follows. / P& [ @iedt 11 Sepras &4t 27 | / Fraig [ wie[t 11 spae F4i 291
142. How many people play either Basketball or Badminton?

feFaTTe STz AR q@ WL (@O (AT ?

d EEEJWWWWW CATA 2
Basketball Badminton
Base ball
(1) 110 (2) 115 (3) 120 w0 1os

143. A rectangle with perimeter 50 cm has its sides in the ratio 1 : 4. What is the perimeter of a square whose area is
the same as that of the rectangle?

50 cxefiie 2AfFAT GBI ATSTHFAT A2 TATS | : 4 T | G2 ATSCHFAT ANF (1619 61 I CHFAS AN e 272
50 At oA RS STerTTad AT A SIS | : 4 Z0E, WTOCHAR AN CFITE (S I Twad AH
e =7

(1)36 cm (2) 50 cm (3)40 cm (4) 45 cm
144. Find the length of the longest pole that can be placed in a room 12 m long, 8m broad and 9 m high.
12 f3 #ree, 8 51 92w =i 9 fiTovela Wbt (F1oifere weig o/ wibiRets nrwe Yoo o 29 |
12 T =71, 8 fivewl @ 9 i Twve! [T aalh 9tz Iy A3 Twoe! [ (oiie «a Twet ?
(1) 16 m (2) 17m (3) I8 m (4) 1I9m
145. What is the square root of (8 + 2\/E) ?

(8+2\/E)a=ﬁﬁfrﬁs?/ (8+2\/E)«ﬂ‘slaeﬁfrm-
(V5 ++3 2) 242 +246 3) 245+2\3 @) V2 +6
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147.

148.

149.

150.
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If (3/5)x =81/625, then what is the value of x*?
Ffw (3/5) =81/625 =7, (=08 X" I &2

T (3/5)° =81/625 2, O@ x" 97 N A?

(1) 16 (2) 256 (3)0 (4) 32
The mirror image of the given combination TARAIN1014A
TARAIN1014A 3 wieiie Teom Fat afemeo 274 -

TARAIN1014A *=foa wofre Teom zem afeEH =3 -
OAMIOTUIARAL QOATOrAUI ARAT

AATOMATARAIWN @APTOTUNI ARAT

Which of the following is a leap year?
TEE (FICH! @Bt ST 2
fiew @it «= o wifead 2
(1) 1600
(2) 2000
(3) 2400
(4) All options are correct / SBTA2! e / 7Ll g
What is the measure of the angle formed by the hands of the clock at 2'o clock?
T Y2 ATHITS TG F15! TOITa Beom 41 (Fiest F 232
T4 TS 2 Bi AT ©4A 1(EA F B TS (FI 204 -
(1) 30° (2) 45° (3) 60° (4) 90°
A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then, how is A related D?
A tzre B 3@, C tzre B 991, D (ztr C 3 (¥, E t=0g D I3 | (978 A I57% D 379 5 292
A,B @7 @M, C, B@a ™, D, C @3 3141, E, D @3 71 973 A, D @7 7Y 1 79/F TS ?
(1) Grand Father / %t / Jigawt (2) Grand Mother / @it / o1t
(3) Daughter / G / Tl (4) Gran Daughter / if&aitas / Areat

skosk skok skok
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99 ., YA 99.:3 99 05

Percentile Percentile = Percentile L= Percentile
HUMAIRA TASNIM ATIKUJ ZAMAN INDRAJIT TIMUNG O 2 SAKIB ASHRAF

98.95 98.92 2\ 98.52 98.59 Y2 98.15 98.15 @98.12

Percentile Percentile - Percentile Percentile - Percentile =, Percentile Percentile
AL SAJID KHAN MIZANUR RAHMAN SINAM J. CHANU HIMANTA P. SAIKIA NAVID NAWAZ < MARUF AHMED MINHAJ U. BARBHUIYA

98.06 3 97 .99 97 .93 97 .90 97 .70 97 .54 F 97 .22

Percentile Percentile Percentile Percentile Percentile Percentile Percentile
MD ALI H. HUSSAIN SWEETY CHOUDHURY POLO PAIT MOSADDIQUL HOQUE MAYANK PANDEY RIHAN AFRID ' ZABIR ANSER M.

97 .05 V&) 97.02 Y =) 26.35 Y- 96.55 V=) 96.75 V=) 20.70 =) 26.¢:

Percentile Percentile > Percentile = Percentile = Percentile Percentile Percentile
Q
MAHMUDUR RAHMAN MOSADDIK ALOM ISHANT SAPKOTA SAMIUL ZAMAN MD YUSUF JAGIRDAR MASUK AHMED ASIF AHMED

96.60 96.60 ‘&96 55 g 96.50 96.49 Y42 96.37 Y2 96.35

Percentile Percentile Percentile Percentile Percentile Percentile Percentile
RIZWAN AHMED MANJAR HUSSAIN KOHINOOR A. LASKAR 5 M. ABDULLAH ASHRAFUL HOQUE e MANDEEP HASNU ! RONAK K. THAKUR

96.29 96.27 96.26 Y42 96.12 Y& 96.05 YA 9D5.97 95.92

Percentile Percentile Percentile ! Percentile - Percentile = Percentile Percentile
GANAJIT SARKAR ATIKUJ ZAMAN TAHSINUL HOQUE SHIRIN FARHANA - KALIASH POUDEL IBADUR RAHMAN ASIFA NAZNEEN

9533 VEXY 95 .62 9552 95.50 95 50 - 95.40

Percentile Percentile X Percentile Percentile Percentile Percentile - Percentile
FIRUJUR RAHMAN B. M. MUAZ LASKAR SHORIFUL ISLAM 4 ALVI FARIHA PARTH DAHAL NASIR HOSSAIN ASHRAF UDDIN CHY.

95.37 YA A 95.37 95 .30 95.20 95 15 95.11 94 .21

Percentile Percentile Percentile !’a Percentile -3 Percentile Percentile ; Percentile
ASIF ALOM \ FARHAN MAHRUJ v JABED SULTAN SUSRATA ACHARYA Nt SUHAIL AHMED FARHAN A. ANSARY MD. K. AKMOL LASKAR

ﬁ94.81 94 .50 : _, : -\ 924 56 94 .40 94.12

Percentile Percentile (oA Percentile - Percentile : Percentile Percentile . Percentile
MISBAHUL HAQUE CHY SHORIFUL ISLAM A\ MUKTADIR AL FIROJ "“‘ ABIR MEHNAZ NAWAR | 4 PRATIK DHAKAL RISHAN HUSSAIN AAYAN NIROULA

94 .04 VEXT A93.ss 93.56 YA : 93 66 93 55

Percentile Percentile Percentile Percentile Percentile Percentile Percentile
TASDIK ALAM KOUSTAV J. NATH TARIF AL SHAKIR RIMA UPADHYAYA 4 MAYESHA ISRAT B. HAFIJUR RAHMAN M. g RAKIBUL ALl

93.22 Y-\ 92.90 YR D2.70 92.02 Y& : N92.58 9257

Percentile Percentile Percentile Percentile B Percentile - Percentile : Percentile
SOURAV SHIL V. A. RAJJAK MUSTAFA i SALMAN AHMED KHAN P RUPANTAR GOGOI . RAHAT HASSAN MAZ. b4 KHUSHI DEVI ABYARTHA BARUAH

922 Y& MD2.36 Y= 92.08 91.97 91.96 Y& 2 91.30 YA X 91.75

Percentile & Percentile Percentile Percentile Percentile Percentile . Percentile
HABIBA TASNIM \ MD ISMAIL CHY. S. BIN ABU TALIB A NACHIM A. LASKAR { AMIRUL TALUKDAR RAJIBUL HOQUE NUR ISLAM
£5 » i

91.7: Y& 91 41 91.23 90.ss 90.ss 90.20 90.70

Percentile Percentile 4 Percentile ¢ Percentile “ Percentile Percentile E Percentile
- MAHAMUDUL HASSAN RAIF ARMAN LASKAR MEHNAZ LASKAR ‘ GOWSUL AZAM “:D » KOUSIK DAS SAJID AHMED U FAHMUN AHMED CHY

90.68 : 90.15 90.00

Percentile Fercentlle Percentlle Percentile Y Percentile
\/ RAHMANA P. TALUKDAR £ SK. RASEL GANGA UPADHYAY \U T; { MASUD RANA RABBANIL & AHSAN AHMED
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